WYKAZ ZJAZDOW

zjazd istniejacy

nawierzchnia

zjazd po przebudowie
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1 | 0+ | 20,15 L indywid. 19,1 19,10
2 ] 0+ [ 99,55 L indywid. 37,5 37,50
3 | 0+ [12755[ L indywid. 18,5 18,50
4 | 0+ |142,90] L indywid. 19,3 19,30
5 | 0+ [ 145,50 P indywid. 715 30,00
6 [ 0+ [151,30 L indywid.
7 | 0+ |157,35] L indywid.
8 [ o+ [161,60] L indywid. 87,0 87,00
9 | 0+ [16530] L indywid.
9 | 0+ [169,75 L indywid. 8,0
10 | 0+ 212,00 L publiczny 57,7 57,5
11 | 0+ | 239,35 P indywid. 10,7 13,50
12 | 0+ | 260,90 P indywid. 9,5 13,50
13 | 0+ | 270,40 P indywid. 8,0 13,50
14 | 0+ | 311,35 P indywid. 13,00 16,00
15 | 0+ [ 317,00 P indywid. 13,00 17,50
16 | 0+ [ 364,85 L indywid. 34,50 34,5
17 | 0+ | 398,30 P indywid. 15,50 19,30
18 | 0+ | 430,20 P indywid. 10,00 14,00
19 | o+ |446,75| L indywid. 8,0 26,0
20 | 0+ | 463,90 P indywid. 17,05 19,80
21 | 0+ | 509,10 P indywid. 22,50 21,00
22 | 0+ | 542,40 L indywid. 12,6 20,9
23 | 0+ | 546,75 P indywid. 23,00 23,00
24 | 0+ | 569,85 P indywid. 20,80 25,20
25 | 0+ | 579,80 P indywid. 25,20 25,00
26 | 0+ | 588,70 L indywid. 14,50 23,50
27 | 0+ | 608,70 P indywid. 18,00 23,90
28 | 0+ | 631,30 P indywid. 11,00 22,70
29 | 0+ | 664,90 P indywid. 13,60 22,30
30 | 0+ | 679,00 P indywid. 17,80 19,30
31| 0+ | 718,70 L indywid. 14,50 15,00
32| 0+ |739,85| L indywid. 16,30 16,30
33 | 0+ | 763,80 P indywid. 13,30 13,30
34| 0+ | 773,05| L indywid. 17,85 19,50
35| 0+ | 78560| L indywid. 13,50 3,20 20,00
36 | 0+ | 792,60 P indywid. 11,50 13,00
38 | 0+ |825,00| L indywid. 10,7 12,5
39| 0+ 838,30 L indywid. 6,50 11,50
40 | O+ | 840,50 P indywid. 19,50 17,70
41 | 0+ [ 850,90 L indywid. 12,60 11,60
42 | 0+ | 860,20 P indywid. 838 12,90
43 | 0+ [ 873,55 L indywid. 10,70 12,70
44 | 0+ | 870,10 P indywid. 12,3 12,80
45| 0+ [ 910,10 P indywid. 11,20 12,20
46 | 0+ 912,30 L indywid. 10,50 12,60
47 | 0+ [ 948,15 L indywid. 10,70 14,60
48 | 0+ [ 955,00 P indywid. 14,60 14,60
49 [ 0+ (968,555 L droga boczna 12,30 15,00
50 | 0+ |988,60| L indywid. 21,50 20,20
51 | 0+ | 993,70 P indywid. 12,50 12,50
52 | 1+ | 23,40 P indywid. 16,50 16,50
RAZEM 875 | 219 | 330,7 | 1233 | 16,3 | 485 | 345 | 58,60 [ 151 838,90 0




